ADIRONDACK CHAIR

ASSEMBLY INSTRUCTIONS

YOU WILL NEED: 1 x Phillips Head Screwdriver

TIMBER PARTS
® /\ﬁ ©

Front leg x 2 pcs

Back x 1 pc

Leg crossbar x 1 pc

Back crossbar x 1 pc

AL C L F

by 7

Arm x 2 pcs

Seat x1pc

STEP1

Attach back crossbar to back

STEP 2

Attach leg crossbar to front legs

P

=
==
/

STEP 3
Attach seat to front legs

HARDWARE

®°hm

Screw M6 45mm x 4 pcs

“Opmm @

Bolt M8 30mm x 6 pcs

oom °Q

Bolt M8 Washer M2
15mm x 6 pcs 8mm x 4 pcs

®0Immmmm

Screw M6 50mm x 4 pcs

Screw M4 45mm x 4 pcs

@F

Allen key x 2 pcs

STEP 4
Attach arms to front legs

/N

STEP 5
Attach back to the seat and arms

STEP 6

Completed chair

==\l

EXCLUSIVELY FOR FRENCH KNOT
7 /53 LORRAINE 5T, PEAKHURST NSW 2210
WWW. FRENCHENOT.COM.AL

IvoRry DAy

WWW.IVORYDAY.COM.AL

FRENCH KNOT

CUSTOMER SUPPORT
TEL: 02 9146 4720
EMAIL: ADMIN@FRENCHKNOT.COM. AU



